O-DD / O-inel

Ratio to ALICE

900 GeV pp Soft QCD
T I T I I T I T T I I T I T

o | HE
B Cross section(An > 3) 7 %
X
LE EE
L N
- =
i
(O]
107t = " _502:
- ale)
@
1072 = =P
— —4 0
| —1 M
— 1<
B ALCE e Th-mmmmm o 12
| --O-- Herwig++ 2.7.1 default &
--3-- Herwig 7.0.2 default =
1072 & —&— Pythia 8.308 default — c
-~ -~~~ -Sherpa2:2:9 defauft -~~~ Q- 48
| — 0
- -2
- 1%
m | | | | | | | , | I =

:I ' ' ' ' [ ' ' ' I:
2 =2

- . 2
1 ] 1

0.5 —0.5
l . . l . . l

899.5 900 900.5

sqrt{s} [GeV]



	Contents
	Page 1


